








































     

 

 

 

CLASS VI           M.M.80 

             TIME 3 HOURS 

 

 
Q1. Four lakh two thousand three hundred fifty-one = ………….. 

(a) 42351   (b) 402351   (c) 420351  (d) 4002351. 

Q2. The successor of the smallest counting number is: 

(a) 0(b) 1(c) 2(d) 3 

Q3. Which of the following has two end points? 

(a) Line(b) Ray(c) Line-segment(d) None of these 

Q4. Which of these is the factor of 50. 

(a) 10(b) 3(c) 7(d) 6 

Q5. 1 Crore = …………….. million. 

(a) 1  (b) 10  (c) 100   (d) 1000. 

Q6. What is the sixth multiple of 13? 

(a) 78(b) 65(c) 52(d) 91 

Q7. The collection of information generally in the form of numbers is called ………………….  

(a)Data(b)frequency(c)pictograph(d)none of these 

Q8. From below number which number is whole number? 

(a) 4(b) 5/2(c) 3.5(d) – 2    

Q9. The data represented in the form of pictures are called 

(a) Pictograph(b) Bar graph(c) Frequency table(d) None of these 

Q10. Which of them is a composite number? 

(a) 45(b) 11(c) 31(d) 13 

General Instructions: 

1. This Question Paper has 5 Sections A, B, C, D and E. 

2. Section A has 20 MCQs carrying 1 mark each 

3. Section B has 5 questions carrying 02 marks each. 

4. Section C has 6 questions carrying 03 marks each. 

5. Section D has 4 questions carrying 05 marks each. 

6. Section E has 3 case based integrated units of assessment (04 marks each) with sub- 

 parts of the values of 1, 1 and 2 marks each respectively. 

7. All Questions are compulsory. However, an internal choice in 2 Qs of 5 marks, 2 Qs of 3 

 marks and 2 Questions of 2 marks has been provided. An internal choice has been 

 provided in the 2marks questions of Section E 

      

      SECTION A 

                                                         Section A consists of 20 questions of 1 mark each 
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Q11. How many lines can be drawn through given two points? 

(a) Only one(b) 2(c) 4(d) Countless 

Q12. How many vertices are there in a triangle? 

(a) 1(b) 2(c) 3(c) 4 

Q13. Sum of two negative number is always 

(a) Positive(b) Negative(c) 0(d) 1 

Q14. The tally mark  shows frequency ………….. 

(a) 4(b) 5(c) 0(d) 3 

Q15. Sum of -36 and 29 is 

(a) -65(b) 65(c) -7(d) 7 

Q16. Seventeen million twenty-four thousand fifty-four = ……………. 

(a) 172454(b) 170024054(c) 170240054(d) 17024054. 

Q17. Write the successor at following number 508 – 

(a) 507(b) 510(c) 508(d) 509 

Q18.Which of the following statement is false: 

(a) -7 +(-6) = -13(b) -5 + 1 = 4(c) 2 + (-1) = 1(d) 8 + (-9) = -1 

 

 

DIRECTION: In the question number 19 and 20, a statement of assertion (A) is  

 

followed by a statement of Reason (R).  

 

Choose the correct option 

 

 

 

Q19. Assertion (A) – 36 is divisible by 9 

   Reason (R) –if the sum of the digits of a number is divisible by 3, then the number itself is divisible by 9. 

 

 

(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation  

 

of assertion (A) 

 

(b) Both assertion (A) and reason (R) are true and reason (R) is not the correct  

 

explanation of assertion (A) 

 

(c) Assertion (A) is true but reason (R) is false. 

 

(d) Assertion (A) is false but reason (R) is true. 

 

Q20.  Assertion (A) – Greatest negative integer is – 1. 



Reason (R) – Farther a number from zero on the left, larger is its value. 

 

 

(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation  

 

of assertion (A) 

 

(b) Both assertion (A) and reason (R) are true and reason (R) is not the correct  

 

explanation of assertion (A) 

 

(c) Assertion (A) is true but reason (R) is false. 

 

(d) Assertion (A) is false but reason (R) is true. 

Section B 

( Section B consists of 5 questions of 2 marks each) 

 
Q21.(i) Write two whole numbers occurring just before 21000.     

         (ii) Which Whole Number has no predecessor? 

 

   (OR) 

         How many Whole numbers lie between 20 and 41? 

Q22. Complete the factor tree:                  

                          
Q23. Identify and state the following as open curve and Closed curve: 

               

 
 

Q24. Draw and Use number line to add the integers : (-1)+5+(-4)     

   (or) 

         Find the sum of (--213 ) ,39 and 176.                       

 



Q25.Catherine threw a dice 40 times and noted the number appearing each time as shown 

below: 

                         
Find the number that appeared. 

(а) The minimum number of times 

(b) The maximum number of times 

 

 

               Section C 

           ( Section C consists of 6 questions of 3 marks each) 

 

Q26.In one state, the number of bicycles sold in the year 2002-2003 was 7,43,000. In the year 

2003-2004, the number of bicycles sold was 8,00,100. In which year were more bicycles sold? 

and how many more? 

(OR) 

A machine, on an average, manufactures 2,825 screws a day. How many screws did it produce 

in the month of January 2006? 

 

Q27.(a)Write the four whole numbers occurring just before 10001. 

(b)Write the predecessor of the smallest number of 6 digit. 

 

Q28. Using divisibility tests, determine whether 80916  is divisible by 11?(show the solution 

stepwise). 

(OR) 

 

(a)Write all the factors of 68. 

(b) Express 71 as the sum of three odd primes. 

 

Q29.Use the following figure to name: 

 



                     
(a) line containing point A 

(b) line on which point B lies 

(c) line on which C and D lie. 

 

Q30.(a)Find : (-31)+92-(-34)=? 

(b) What is the additive inverse of ( -13). 

 

Q31. 

 

 
 

                                 

Now answer the following questions: 

(i)How many students were absent on Monday? 

(ii)How many students were absent on Thursday? 

(iii) How many more students were absent on Saturday than Friday? 

 

 

      SECTION D 

                   ( Section D consists of 4 questions of 5 marks each) 

 

Q32(.i)Name the following in the figure given below: 



                                   
(a) Points lying In the interior of ∠AOB 

(b) Points lying In the exterior of ∠AOB 

(c) Points lying on ∠AOB 

 

(ii) Name the angles in the given figure 

                                   
 

Q33.Following are the choices of games of 40 students of Class VI: 

Football, cricket, football, kho-kho, hockey, cricket, hockey, kho-kho, tennis, tennis, cricket, 

football, football, hockey, kho-kho, football, cricket, tennis, football, hockey, kho-kho, football, 

cricket, cricket, football, hockey, kho-kho, tennis, football, hockey, cricket, football, hockey, 

cricket, football, kho-kho, football, cricket, hockey, football. 

(a) Arrange the choices of games in a table using tally marks. 

(b) which game is liked by most of the students? 

 

                                         (OR) 

Rajan made a pictograph given below to show the number of cars washed at a car 

washingstation during three days of a week: 

 
(a) On which day the maximum number of cars were washed at the station? 

(b) On which day the minimum number of cars were washed at the station? 

(c) How many more cars were washed on Saturday than on Friday? 

 

Q34.(i) Find the HCF of 20,28,36.. 



 (ii) Find the LCM of 25,30 and 45. 

     (OR) 

 

Three boys step off together from the same spot. Their steps measure 63 cm, 70 cm and 77 cm, 

respectively. What is the minimum distance each should cover so that all can cover the distance 

in complete steps? 

  

Q35.To stitch a shirt , 2m15cm cloth is needed . Out of 40m cloth, how many shirts can be 

stitched and how much cloth will be remaining? 

 

                                                                     SECTION E 

                                                         Case Study Based Questions 

Q36. The school offers you and your two friends the opportunity to purchase a tree sapling in support of 

GradeVI students Planting Activity, which will promote tree planting practices among students and thus 

improve our environment. There are 32 boys and 30 girls in the Grade VI class. 

  

a) Write  the prime factorisation  of 32. 

b) What is the minimum number of trees you will acquire for planting trees, so that they can be 

distributed equally among all students? 

OR 

Find the HCF of 32,30. 

c) Using divisibility rule check whether 30 is divisible by 9.(show the steps) 

 

 

Q.37 Ruchika and Salma are playing a game using a number line which is marked from -40 to 40 at equal 

intervals. Both of them placed a coloured token at the zero mark. Two coloured dice are placed in a bag 

and are taken out by them one by one. If the die is red in colour, the token is moved forward as per the 

number shown on throwing this die. If it is blue, the token is moved backward as per the number.   

 



 
a) Ruchika gets the red die and gets four on the die after throwing it. At which integer should she 

place her token? 

b) Add :    -32+(-20)-(-12)+(+27) 

         OR 

Arrange the following in ascending order: 

16, -27, +30, -40, +(+33) , 0 

c) Salma  gets the blue die and gets 6 on the die after throwing it. At which integer should she 

place her token? 

 

 

Q38. The sale of apples on different days of a week is shown below : 

 
 

Observe the pictograph and answer the following questions : 

(a) How many  were sold on Friday? 

(b) If one  carton can hold 9 apples . How many cartons were needed in the given 

week? 

     OR 

On which days the fruit seller has sold more than 10 apples.  



        (c)On which days were the maximum and minimum number of apples sold? 
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GENERAL INSTRUCTIONS:  

1. The question paper comprises Six Sections – A, B, C, D, E, and F. There are 38 questions in 
the Question-paper.  

2. All questions are compulsory. Internal choices are there for some questions. 

3. Section A – From questions 1to 20 are objective questions of 1 mark each. 

4. Section B – Question no. 21 to 26 are very short answer type questions, carrying 2 marks 
each. 

5. Section C – Question no. 27 to 31 are short answer type questions, carrying 3 marks each. 

6. Section D – Question no. 32 to 33 are case based questions with three sub questions and 
are of 4 marks each.  

7. Section E –Question no. 34 to 36 are very long answer type questions, carrying 5 marks 
each. 

8. Section F – Question no. 37a and 37b are diagram and map base questions, carrying 5 
marks 

     SECTION-A 

1. An important river along which people lived for several hundred thousand years was- [1] 

a. Indus  b. Ganges  c. Son   d. Narmada   

2. The first large and powerful kingdom was-      [1] 

a. Magadha  b. The Vindhyas  c. Narmada Valley d. None of these  

3. A special tank, which archaeologists call the Great Bath, was found at-   [1] 

a. Harappa  b. Lothal  c. Dhola Vira  d. Mohenjo-Daro 

4. Various patterns formed by different groups of stars are called     [1] 

a. Planets  b. Constellations c. Galaxy   d. Universe 



5. Direct rays of the sun fall on the equator on       [1] 

a.  21 March  b. 21 June   c. 22 December  d. 1 January  

6. Where is the Jallianwala Bagh situated?       [1] 

a. Amritsar  b. Delhi  c. Agra   d. Mumbai  

7. Who is considered as the father of the Indian Constitution?    [1] 

a. Gandhiji b. Pt. Nehru   c. Rabindranath Tagore  d.  Sardar Patel 

8. To judge other people negatively or see them as inferior is called ______  [1] 

9. The oldest Veda is the ___________.       [1] 

10. Maps showing natural features of the earth such as mountains, plateaus, plains, rivers, 
oceans etc. are called__________.        [1] 

11. The ruler of Macedonia who wanted to become the world conqueror was Ashoka. 
True/False?           [1] 

12. The land where the Jana set its foot, and settled down was known as___   [1] 

13. The full form of IST is Indian Standard Table. True/False?    [1] 

14. The Standard Meridian of India is _________.      [1] 

15. The Gram Sabha is a meeting of all adults who live in the area covered by a Panchayat. 
True/False?           [1] 

16. The frigid zone lies near the __________.      [1] 

17. Many cities in the Mahajanapadas were fortified. True/False?    [1] 

Choose the correct option for the following: 

      a. Both A and R are true and R is the correct explanation of A 

b. Both A and R are true but R is not the correct explanation of A 

c. A is true but R is false. 

d. A is false but R is true.  

18.  Assertion(A): Throughout History, people travelled from one part of the subcontinent to 
another.           [1] 

Reason(R): Men and women moved in search of livelihood, as also to escape from natural 
disasters like floods or droughts.       



19. Assertion(A): The Earth has two types of motions, namely rotation and revolution. [1] 

Reason(R): Rotation is the movement of the earth around the sun in a fixed path or orbit. 
Revolution is the movement of the earth on its axis. 

20. Assertion(A): Monarchy is similar to democracy.     [1] 

Reason(R): In monarchy, the final decision-making power rests with the monarch. 

     SECTION-B 

21. In what the life of a raja was different from that of dasas and dasis?   [2] 

22. Name the grains grown by the Harappans.      [2] 

23. What are the functions of a Gram Secretary?      [2] 

24. Name two essential features of democratic government.    [2] 

25. What are asteroids and meteoroids?       [2] 

26. Why is it 5:30pm in India and 12 noon in London?     [2] 

     SECTION-C 

27. Why the rajas of the Mahajanapadas built forts?     [3] 

     OR 

What are megaliths? What are the features of the megalith burials? 

28. Write any three differences between manuscripts and inscriptions.   [3] 

29. What are the three heat zones of the Earth?      [3] 

30. Differentiate between rotation and revolution.      [3] 

31. What do you mean by a secular country?      [3] 

     OR 

Differentiate between Kerala and Ladakh. 

     SECTION-D 

 Case-Study based questions: 

32.  Some of the earliest people who lived were skilled gatherers, – that is, people who gathered 
their food. These people knew about the vast wealth of plants in the surrounding forests, and 
collected roots, fruits and other forest produce for their food. They also hunted animals. Some 
of the areas where women and men first began to grow crops such as wheat and barley about 
8000 years ago are located here. People also began rearing animals like sheep, goat, and cattle, 
and lived in villages. These were some of the other areas where agriculture developed.  



1. What was the main occupation of the earliest people?     [1] 

2. The places where rice was first grown are to the north of the ________.  [1] 

3.Name any two crops grown by the people around 8000 years ago.    [2] 

33. Panchayati Raj System is a process through which people participate in their own 
government. The Panchs and the Gram Panchayat are answerable to the Gram Sabha because it 
is the members of the Gram Sabha who elected them. This idea of people’s participation in the 
Panchayati Raj system extends to two other levels. One is the Block level, which is called the 
Janapad Panchayat or the Panchayat Samiti.  

1. The Panchs and the Gram Panchayat are answerable to whom?    [1] 

2.  Who is the president of the Gram Panchayat?      [1] 

3. The Panchayati Raj system extends to two other levels. Name them.  [1+1] 

     SECTION-E 

34.What are the things for which we can be prejudiced about?    [5] 

     OR 

What do mean by prejudice? What is stereotype? What are the provisions of equality given in 
the Indian Constitution?        [1+1+3] 

35. What is an equinox? Why do the poles experience about six months day and six months 
night?            [2+3] 

     OR 

What do you mean by conventional symbols? How do these symbols help in reading maps? 
            [2+3] 

36. Explain the conditions that helped Magadha to become most powerful Mahajanapada? 
            [5] 

     OR 

Explain the house patterns and drainage system of the Harappan cities?   [5] 

37(a). Draw a well-labelled diagram of the important latitudes and heat zones.  [5] 

 37(b). Locate and label the following on the political map of India (any5):  [5] 

1. Harappa 2. Ujjain 3. Mohenjo-Daro 4. Lothal 5. Magadha 6. Taxila 

https://www.learncbse.in/panchayati-raj-class-6-extra-questions/


 

FIRST TERM EXAMINATION -2023 – SAMPLE PAPER 

SUBJECT –ICT 

MM(TH) :50     (PR):50 
Q1. MCQ          1x10=10 

i.__________ is not a type of system software. 

a. Operating system    b. word processor      c. programming software   d. utility software 

ii. Which of the following determines how your presentation moves from one slide to the next – 

a. Animation   b. creation   c. deletion   d.transition 

iii. A watermark is document can be ________ 

a. An image    b. text    c. symbol   d.all of these 

iv. You can change the space between _______________ 

a. Paragraph   b. lines    c. both a and b      d. all of these 

v. Vertical division are called ________________ 

 a. rows    b. columns    c. cells   d. sheets 

vi. Cell is the intersection of a ___________ 

a. Rows   b. columns   c. both a and b     d. none 

vii. The cell address in the formula  is known as – 

a. Range   b.mixed reference    c.cell reference    d. none 

viii. In the ______________ chart , bar are placed horizontally 

a. Bar   b. area    c. column    d. line 

ix. Animation is used to hold the __________of the audience 

   a. attendance   b.absence     c.attention       d.arrival 

x. To preview a transition of current slide , we click _______________ 

   a. start from 1st slide    b. start from current slide    c. both a and b    d. none 

Q2. Fill in the blanks  -           1x5=5 

i. ____________ is  not a type of system software. 

ii. CAD is an example of ________________ 

iii. Header is placed at the top of a _____________ 

iv. A ______________ is faded text or image behind the text in a document. 

v. ________________ is a collection of different worksheets. 

 



Q3. State True/False -           1x5=5 

i. AutoFill allows user to automatically fill a number or text series. 

ii. Data compression program is used to compress large sized file into a smaller size file. 

iii. New templates cannot be created in Impress. 

iv.  To create a new presentation, we click the File menu. 

v. Two or more cells can be merged into one cell. 

Q4. Very  short answers –         2x4=8 

i. What is spreadsheet? 

ii. What is column? 

iii. Define legend 

iv. What is cell reference? 

Q4.Short answers-            3x4=12 

i. What is an operating system? 

ii. What is an application software? 

iii. What is slide transition? 

iv. What is formatting? 

Q5. Long answers –(any 2)        5x2=10 

i. What is the importance of header or footer? How will you add a footer? 

ii. How will u insert data in a worksheet? 

 

***************** 

 

 

 

 


